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. A*r rnrr FIVF /llEi nr raciinnc caiaa+inn al i6aa+ irrrn irnm a.^h ^ad
c The icta! number ci quesilon:s in thi:r paBii' is '! O.

- ::.: -,1* .-::... .-:-.:9.., .. .. t........':....:...;'. 
'' 

.' .. ... ::....:..= ,r,q,,\e qriwvqieu iUi gciuri qUY5liuii iilciu.rleu ajUUUiUiilgiY.
. Graph papers are p!'ovkieci and caicuiato!'s are alioweci.
. Time aiiuwcci. Three (03) Hoiirs

1.

2.

Pert E

i. Distinguish the fundamental difference between the cardinal utility
approaeh and ordinal Lltiiity approach

ii. Briefly explain the meaning of "marsinal utility"
iii. 'vVhat is the reiationship between the toiai utiiltJ"- and the margina! utiiity?

Shorrr ,eraphieally.

i. Define the 'production function'
ii. Explain the relationship between the production function and the cost

structure oi a firm
iii. Ex-plain the effect of the utilization of improved technolcgy on the

production function and the cost structure ofthe firm

i. Explain the objeciives for imposing a maximum price control and
minimlrm nrinc cnnfrnl

ii. Explain in which situation the price floor and price ceiling become
i,--ff^^ri.,^rrrLrlv!trvL

A consumer whose monthly income is Rs. 36.00 wants to buy nvo
commcciiiies, X anci Y. The tctai utlii:y iuncricns cf ){ and Y are given by
t r.., 1-^l 1,,..,i -,. -,.,.^r i^^- -^-*^^+i.,-1.,lrl! lvllvwlrrS vYuqlrvrrs r lJPvlrr YwrJ,

tn - (nrt 
-q.nZ'ai

.^a
r Uy = sZQy - +U'

Assurne that the price cf X is Rs. 5.00 and the price ..rf Y is Rs. 8.00

i. Caicuiate the consumer's equiiibrium purchases of X and Y commodities
ii. How do you explain the meaning of this equilibrium?
iii. Calculate the marginal utility of money at the equlibrium
iv. Assume that the price of X has increased by Rs. 2.00 while other things

remain the same. What should be the consumer's new equilibrium
purchases?

( | O marks\
(05 marks)
IO{ mcrL'c\

(04 marks)

(08 marks)

(08 marks)
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( i0 marks)
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(04 marks)
(04 marks)

(06 marks)
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5. Write short notes on any four of the following;

: -l'L^ :-^^*^ ^--l +L^ ^,,L-rir,.ri^* ^ff^^+- ^f +L^ ^-i^^ ^L^-^- f^- -^.--ll. I tlL tttLUlttt 4ltu lttL JuuJtttullvll !llwLtJ ur ttrl Pt tlL tlrqrrS! lvr rrvrtl14r

goods

ii. Derivaiion oiequiiibrium conciition ior a perfectiy competitive firm
rii iiiminishinu ma!'sinai nrnduci nia firm""'D"'-'D"'
!v= F<::onrlnries of'seale
., -li-^ D.i^- .-'^^-,,*arinn /-,,.',-v. MM ll! LvllJulllullu!l Lu! YL

(05 marks each)

Part lt
6. i'ou are given the foliowing iniirrmation 'with regarei to an open eeonc,my

/.,-!,.-. ;^ D. 
--\.t lu9J iil r\J. Iiiill

Corisumptioil function
Drirratp inrrpctmpnf

,- -. ----lL - ZUU -t U./J I
l=?{O

Government Expenditure C :200
Exports
Direct Tax Function

x :50
T : 0.25Y

i. Determine the equilibrium levelof national income of this economy

ii. Estimate the income multiplier of this economy
iii. Now assume that import goods are introduced in this economy and the

import function is given below:

ln:Pcn furrciion ivi = *Y
l^alnrrlato thp nor^, enlilihrirrm lcrrcl ni nciinnqi incnme of fhe ecnnnmvlYs, r r vr

iv. Caicuiate the amount of the baiance of trade at the new equiiibrium

i tri. ri^,',';..k i--r...^-^ f i^ti^^.i anri ctrirr.iiirai iinomnlnrrmenl!. v!)r-!rrxurJrt uvrvvlvtl rr rllrvrrur qrru .trr

ii. What Jtructura! problems d+;;cu identify in the Sril-ankan economy in

solvlng tne unemployment proolem'/

i iiisr-::qq rhe irv:nn-nnc<' <':f rhc .nn..ni +i'i'-rc:<i rn<-.n-^v' in exarnining ihe_"* ""r-' --- "'-"-J --- -_-----__-----9 ----

rnnntrv crrnnlv nf q cottnfrv..."..-Jv6Yrl.l

ii. i:l:,p!ain thc ef'eets +f the fo!l+'"ving c;n incney suppi)" taking intc acc+unt
ihe rnnccn! +i -mnnarr mrritiniior'!rrr vvrrvvl,!

a. {-r.,jpen mi;-ki:i +pera'riun pr;iic5, ui tiis'.enirui Bar'rk
u n;-^^,thr.^rd ^^l;^,, ^l+k^ 1-=-.-.--=! A=-Lu. rrr5LUuiri rate polici' of the Cen,' dr uo'^
r. Pri!ir.-' n1'!+crl r-F(-rr!.vp i.enriir^ernents of ihe Ceniral Bank.",.-J

i. Briefly explain the comparative cost theory of intemational trade and

comment on its applicability to developing countries
ii. Briefly outline the advantages and disadvantages offixed exchange rate

system

(05 marks)
(05 marks)

/n< -^-!,-\\uJ rrrcr NJ,

(05 marks)
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/rA I \
( I U mar,(=s,

(05 marks)

\vJ i i Ear .=r j

/n < *^-t.^ \
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( l2 marks)

(08 marks)
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i0. write brief norcs on ani'iour oi'rhe foiiowing;

i. Motives ot demand tbr mone.:---J
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Economics ll
ECG 2 Comparative Economic Development

Answer any FIVE (05) questions.
-t'lhe total number of questions in this paper is 08.

Mankrs allocated for each question indicated accordirrgly.
Time allowed: Three Hours (03)

l" Criti,calhi exantine the view that it was the expansion of trade, the commutat.iion ancl
thtl [:'!ague (Black Death) that caused the break- up of the nra.norial s'ystcm in Creat
Eritain. (20 marks)

E::plain tlre silgnificance of.agrarian transfbrmation in industrial developrneut of any
se.lected European cnuntry. (20 rnar:ks)

"T'he trtt'tlt'fnrjustrial Revolution'does not mean a sudden change burt it does
rull.imatr:ly mearn a fundamental change in the character o1'the economy of a r:ountry"'.
Discusl; [his statentent with reference to Great Britain during the eighteenl.h and early

)

3.

4"

f,,,

7"

8.

"Z,ollverein pa.',ted the way for the development of dornestic rnarket in GerrnanSi"
Disc,usri;;i.nd cornrnL€rnt. (20 rnarks)

6" E::arniine the main features of the New Economic Policy introduced 1by l-enin in Soviet
Russia and its rirnpact on the Russian economy. ('20 marks)

ninell.ee nt.h centuries"

Compane, and contrast the role of the
with tkurt of continental Europe.

(20 rnarks)

state in econornic development in Gre;at Eritain
(20 rnarks)

in Frrance during the
derrelopment.

(20 marks)

(5X4:.2[t rmarks)

Describre thr: ma.i,or demographic changes that took place
nineteenlh century and explain how it impacted on its industrial

Wrilis sh,tffi notes on any Four of the following:

(i) The Second Enclosure Movement
(ii) Wan Communi:sm
(iii) "fhe Corn Law of l8l5
(ir,) lWerr:antilisrn
(r,') A.da.n:l Srnith"s Doctrine of the 'trnvisible Hand'



(a)l.

(b)

6Stde9

(a)

(b)
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Economics lll
ECG 3 Applied Economics

Answer any FIVE questions.
The total number of questions in this paper ls 10"

Merrks allocated for each question indicated accordingly.
( Three Hours )

Outline the major economic reforms implemenl.ed in Sri Lank.a irr
1977 and in 2005.

Lliscuss what impact these reforms have had on baldnce o1'trade an.,J

fi:lreigr'direct investment in Sri Lanka"

Discuss thr: unemployment trends in Sri Lanka since 1960.

\[hat arre the salient features of unemploymenl in Sri Lank.a?

(10 rnarks)

(10 marks)

(10 rnarks)

( tr 0 rnarl<s)

(tr0 rnarks)

2. (a)

(t')

Describe the main characteristics of poverty in Sri Lanka. (08 marks)

!'/hat suggestions would you propose to reduce poverty in Sri L,anlla?

Elxplair:1. ( 12 rnarks)

'llopul;atiot:r growth rate of Sri Lanka is lower than that of the oti:er d.eveloping
c,ruratries'. Do you agree with this statement? Ciive reasons for your answer.

( 1 0 rnarks)
Exarnine tnre economic effects of population growth in Sri Larnka. since

indeperndence.

3.

4. (a)

(b)

5. (a)

(b)

What arre the reasons lor continuous increase in budget delhcits in Sri Lann<a?

(07 rnarks)

State reasons for the lack of government reventle to finance the btldget

deficit:; in Sri Lanka. (06 rnarks)

I.lescriLe the macroeconomic effects of large budget deficiits in Sri Lanka.
(07 rnarks)

(c)



7. (a)

(b)

Dis,curss tlre irnprortemt steps taken by the Sri Larikan govemment since
independe:nce to promote domestic agriculture. (20 marks)

(08 h4arks)Dsscribr: the post - 1977 industrial policy in Sri t,anka"

Discuss the impact of this policy on production a.nd export stru,ctu.re of
the cou;ntry. (12 h4arks)

(a)

(b) Discuss the major problems faced by the plantation sector in Sri Lanka
sirtce 1977. (14 marks)

Examine, the measures taken by Sri Lankan governrnent to solve the berlarircer of
payrrents prob,flem after 1977. (20 marks)

10. Write sh,Dll notes on any four of the following with referenco to Sri Lanka: (0,5 N{arks each)

(a) Pn>blerrns of aging population
(b) lncome inecluality after 1990
(c.) Exchange rate policy since 1977
(d) Social V/elfare Policy after 1977
(e) 'l rrade policl' after 1977
(1) Clc mponLents; of Balance of Payments account

Orrtline the :importance of the plantation sector ln Sri Lanka" (06 marks)

9.


